IE 410: Production Planning and Inventory Control
Mid-Term 2. May 23, 2007
Problem 1 (50 degrees)

A company has the following 6-month forecast for its most important product. 

	Month
	1
	2
	3
	4
	5
	6

	Demand
	50
	10
	30
	20
	40
	10


It costs 30 SR to place an order, the cost of one product is 20 SR, and the annual inventory holding cost is 20 percent. Develop the best supply policy for this company.

Problem 2 (50 degrees)

The following table gives costs, monthly forecasted demands, and production capacity:

	Month
	1
	2
	3

	Production capacity
	Regular time
	100
	100
	100

	
	Overtime
	20
	20
	20

	Unit Production cost
	Regular time
	2
	3
	4

	
	Overtime
	5
	6
	7

	Demand
	110
	140
	90


The unit holding cost is 5 SR per unit per month, and the unit backlogging cost is 10 SR per unit per month. Formulate the corresponding transportation model, and give any feasible solution of the problem.

